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Section I — Listening

30 marks
Attempt Questions 1-10
This section should take approximately 40 minutes

You will hear TEN texts. Each text will be read twice. The question for each text will be
read once before the first reading of the text. There will be a pause after the first reading in
which you may make notes. However, you may make notes at any time. You will be given
adequate time after the second reading to complete your answer. Answer the questions
in ENGLISH in the spaces provided. These spaces provide guidance for the expected length of
response. In the case of multiple-choice questions, tick the box that corresponds to the correct
response. You may proceed to Section 1I as soon as you have finished Question 10.

Question 1 (2 marks) Candidate’s
Notes
Where will Véronique and Claude meet? 2 %Q’MMS
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Question 2 (2 marks)

Why are Bernard and Fatima having this conversation? 2

Question 3 (1 mark)
Marion is likely to 1

(A) stop studying.
(B) look for a job.

(C) visit the Blue Mountains.

NEjE.

(D) celebrate her friend’s birthday.
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Question 4 (2 marks)

Why is Xavier feeling frustrated?

...............................................................................................................

Question 5 (3 marks)

Complete the table.

Airline A\\(R'UW\ e

Flight 7 40|

Reason for the delay N’A\{lﬂ CaWN

Departure time Lo ¢ ‘fé

Question 6 (3 marks)

Why will Elodie go home? Justify your response.

...............................................................................................................
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Question 7 (4 marks)

(a) Fill in the missing letters. 1

@ﬂ_w% W S 1274

(b) Why is the young man in trouble? 3
Mooy speeding ond said e nartptyhg

WM. ond e ke e, poke.fo.be wie and.....
M..um.\ft.do..ck..ct/jam.. .........................................................

.....................................................................................................

Section I continues on page 5
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2011 HIGHER SCHOOL CERTIFICATE EXAMINATION
French Beginners

Section I — Listening (continued)

Question 8 (4 marks)

What are the main points made by Sébastien?

Ne hates schanl , the. exams are. stupidd, we oulel
cother 1ork, has. o studly  doont.like. wafi He. ..
doem(albaw*bﬁo’rb&ckov\ ..................................................

Question 9 (4 marks)

Why is Mr Jackson making this speech?
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Question 10 (5 marks) Candidate’s
Notes
Will Léa get the job? Justify your response. 5 q 9 ecle e
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You may now proceed to Section 11
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